

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

ITB No. 19-101061 ITB Name: High Pressure Resilient Wedge Insertion Valves

			Company	F. M. Shelton, Inc.	
ITEM	DESCRIPTION	Estimated Quantity	Unit	Unit Price	Amount
1	Insert Gate Valve, Resilient Wedge, 4-inch, in accordance with enclosed Minimum Specifications; Team Insert Valve model IV-0400-L acceptable equal or better. Bidding On: <u>Team IV-0400-L</u> (Manufacturer Name & I.D. No.)	30	Each	\$4,361.80	\$130,854.00

DEPARTMENT OF PURCHASING AND CONTRACTING

DeKalb County

BID	TABL	JLAT	ION

2	Insert Gate Valve, Resilient Wedge, 6-inch, in accordance with enclosed Minimum Specifications; Team Insert Valve model IV-0600-L acceptable equal or better. Bidding On: <u>Team IV-0600-L</u> (Manufacturer Name & I.D. No.)	40	Each	\$4,964.95	\$198,598.00
3	Insert Gate Valve, Resilient Wedge, 8-inch, in accordance with enclosed Minimum Specifications; Team Insert Valve model IV-0800-L acceptable equal or better. Bidding On: <u>Team-IV-0800-L</u> (Manufacturer Name & I.D. No.)	35	Each	\$5,845.85	\$204,604.75

DEPARTMENT OF PURCHASING AND CONTRACTING



BID TABULATION

			ICATION		
Separate Sealed Price Schedule (Yes/No)				Yes	
Attendance at the Mandatory LSBE Meeting (Yes/No)				Yes	
LSBE Participation Benchmark/GFE				Yes	
Number of Bids Received:				2	
TOTAL				\$720,646.60	
	Bidding On: <u>Team IV-1200-L</u> (Manufacturer Name & I.D. No.)				
5	Insert Gate Valve, Resilient Wedge, 12-inch, in accordance with enclosed Minimum Specifications; Team Insert Valve model IV-1200-L acceptable equal or better.	5	Each	\$12,422.77	\$62,113.85
4	Bidding On: <u>Team IV-1000-L</u> (Manufacturer Name & I.D. No.)				
	Insert Gate Valve, Resilient Wedge, 10-inch, in accordance with enclosed Minimum Specifications; Team Insert Valve model IV-1000-L acceptable equal or better.	12	Each	\$10,373.00	\$124,476.00





F.M. Shelton, Inc., 1434 Ralph David Abernathy Boulevard, SW #1, Atlanta, GA 30310

Additional Bidder:

Hayes Pipe Supply Inc.

3450 Novis Pointe N.W.

Acworth, GA 30101

(Non-Responsive - Did not demonstrate GFE nor did they meet the 20% benchmark)

Witness Signature:

Agent Signature: